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Q2. Given matrix 4 ag shown A \9 ‘.? --3
= '~6 5:: 41.
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Determine the three eigenvectors. You can do it in a smart irt way. Think, but don't waste t00
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b) A 2x2 matrix A has 4 and 5 as eigenvalues . To calculate A
theorem to obtain a formula involving multiples of 4 , and Iz nly . )

, use Cayley-Hamllton
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b)Use matrix properties to derive an expression fo@m terms of e”’
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c)Use a special case of """ =¢*o® (ooether with matrix properties to derive an expression for
the inverse of{e”'
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Q4 Given the block diagram shown, Determine the SLate SpPe== =~ =k~ cwmati“ﬂ,[h&

transfer function, then obtain a block ) ).f. -

diagram of diagonal form. Is the - . of
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Q2 Given the block diagram shown, Determine the

system transfer function , and controllability by
any method you prefer,
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Q3 Given the block diagram shown, Obtain a state space descrll:_ltmn by any method

prefer. ™
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